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Q1. DABC #, f3g®1 HIvr B AR §, AB = 24 cm 3R BC = 7 cm ¢ | 7w _@f@a
HT AT ATT HITAT -

(i) sin A, cos A

(ii) sinC, cos C

Solution:
AT T¥37sT DABC #,
AB =24 cm,BC=7cm
qIBURIRY 95T 4,
AC2 = AB2 + BC2
=242 + 72
= 576 + 49
= 625
AC = V625 = 25 cm
31 AARIOITATT 1 ol TR

(i) sin A, cos A

Q2. 3Tsfa 8.13 #, tan P — cot R &I AT AT AT |
Solution:

PQ=12cm, PR =13 cm

QR = ?

THHIUT 3877 DPQR H,



PQ=12cm, PR =13 cm
qISYURIRE AT 4,

PR? = PQ? + QR?

132 = 122 + QR?

169 = 144 + QR?

169 - 144 = QR2

QR?2 = 25

QR = V25 =5cm

3 ARHIOAITT 3aTd o T

aATdell 8.2
Q1. =afaf@a & AT Awfae:
(i) sin 60° cos 30° + sin 30° cos 60°
gol: sin 60° cos 30° + sin 30° cos 60°
qaf FIOANT 3Fearcll T AT I |
(ii) 2 tan? 45° + cos? 30° - sin? 60°
ge: 2 tan? 45° + cos? 30° - sin? 60°
Q2. & Rasrey gfavw 3k sraa ey &1 ey &if9 :
(A) sin 60° (B) cos 60° (C) tan 60° (D) sin 30°
(iii) sin 2A = 2 sin A 99 §F a1 §, Safh A & ¢ :
(A) 0° (B)30° (C)45° (D) 60°
gol: sin 2A = 2 sin A

= 2sin Acos A= 2sin A[ sin 2x = 2 sin X cos X]



=> cosA=2sinA-2sinA

=>CcosA=0

A = 0°
faweq (A) T ¥ |
A FT AT FHIHRIOT (iii) F W@ W
A+ B = 60°
= 45° + B = 60°
= B = 60° - 45°
= B =15°

A = 45°, B = 15°

Q4. Famv ¥ Arfaf@a & & sla-wia wex § a1 38T § | FROT AT 39a 3caw Hr it
T |

(i) sin (A + B) = sin A + sin B.

(i) O H IR Fwrr sin O F A= # s gy A & |
(iii) © # gfg &1 & AT cos O & AT 7 sht I A 7 |
(iv) 6 & weft 71T 9T sin O = cos O

(v) A = 0° WX cot A Tfeniya &t § |

Feat:

(i) & a1 YT /T E |

(i) feaT 9T FUT I § |

(i) fe=m arar wue 3T & |

(iv) fear a=m a= 3\ ¢ |

(v) & 137 HUT AT | |

TATdaT 8.3



Q1. fArafaf@d &1 AT FerrfaT:
(iii) cos 48° - sin 42°

gol: cos 48° - sin 42°

= sin(90° - 48°) - sin 42°
= sin 42° -sin42° =0

(iv) cosec 31° - sec 59°
gol: cosec 31° - sec 59°

= sec (90° - 31°) - sec 59° [ cosec q = sec (90° - q) ]

= sec 59° -sec 59° =0
Q2. fammrv f&

(i) tan 48° tan 23° tan 42° tan 67° =1
gol: (i) tan 48° tan 23° tan 42° tan 67° =1

LHS = tan 48° tan 23° tan 42° tan 67°

cot (90° - 48°) tan (90° - 23°) tan 42° tan 67°

cot 42° cot 67° tan 42° tan 67°

(cot 42° x tan 42°) (cot 67° x tan 67°)

1x1 [cotAxtanA=1]

=1
LHS = RHS

(ii) cos 38° cos 52° - sin 38° sin 52° =0
gol: (ii) cos 38° cos 52° - sin 38°sin 52° =0

LHS = cos 38° cos 52° sin 38° sin 52°

sin (90° - 38°) cos 52° - cos (90° - 38°) sin 52°

sin 52° cos 52° - cos 52° sin 52°



sin 52° (cos 52° - cos 52°)

sin 52° x 0

=0
LHS = RHS
Q3. 3fE tan 2A = cot(A - 18°), SEl 2A TF JASIUT §, A A FT AT Ad HAT |
gol: tan 2A = cot(A - 18°),
= cot (90° - 2A) = cot(A - 18°)
arell qadt F Jofell lel T
= 90°-2A=A-18°
= 90° + 18° = A + 2A
= 3A = 108°
Q4. Figtan A = cot B, AR AT fF A + B = 90°
gd:tan A=cotB fATY |

= tan A = tan (90° - B) ol el W

= A=90°-B

= A + B =90° Proved

Q5. IfE sec 4A = cosec(A - 20°), STl 4A TF JARI 5, @ A FT AT AT AT |
gol: sec 4A = cosec(A - 20°)

= cosec (90° - 4A) = cosec(A - 20°) [ sec q = (90°-q) ]

JolelT el T

= 90° - 4A = A - 20°

= 90° + 20° = A + 4A

= 5A =110°



Q7. sin 67° + cos 75° F 0° 3R 45° F AT ¥ ol & PrwrorfAfaT et & gaf #
Fd fifT |

gol : sin 67° + cos 75°
= cos (90° - 67°) + sin (90° - 75°)

= cos 23° + sin 15°

I 8.4
Q4. W Rwew gfaw 3k 3w Rwew At gite ffaw:
(i) 9 sec? A - 9 tan? A sTIsT &
(A) 1 (B) 9 (C) 8 (D) O
Correct Answer: (B) 9
Solution:
9 sec? A - 9tan? A = 9(sec? A - tan? A)
=9x1=9
(ii) (sec A + tan A) (1 - sin A) SRR § :
(A) secA(B) sinA(C) cosecA (D) cosA
Correct Answer: (D) cosA

Q5. Rrfaf@a wdafas g ffaw, s@l 7 Fivr, e e sa9® Renfa §, =0T

3Ad: LHS = RHS proved



